C4 : INTEGRATION 

1)  Use the substitution x = 2(2 sin (  to prove that
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2) 
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(a)
Express f(x) as a sum of partial fractions. 

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

(4)

(b)
Hence find 
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3)    






Figure 1
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Figure 1 shows a graph of y = x(sin x, 0 < x < (. The maximum point on the curve is A.

        The finite region enclosed by the curve and the x-axis is shaded as shown in Fig. 1. 

A solid body S is generated by rotating this region through 2( radians about the x-axis.

Find the exact value of the volume of S.  
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Did your score match your estimated ‘success level’ ?

	Skill
	Qu
	(
	(

	I can  solve integration problems using partial fractions
	
	
	

	I can  solve integration problems using substitution
	
	
	

	I can  solve integration problems using parts
	
	
	

	I can evaluate volumes of revolution
	
	
	

	I can integrate 
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	I can integrate sinx
	
	
	

	I can integrate cosx
	
	
	


                    ( Yippee!! - I got all the questions correct.

                    ( I made mistakes and need to practise this topic more.

	Top 3 topics I need to study further are:
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Overall, for this assessment I think my success level is: 
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